
Hello 

 

Science class does not always have to end 

in tragedy. 

Science class does not always have to end 

in tragedy. 

HOMER’S BUS 

Today’s Chalkboard Anagram (1 word) 
Today’s screened Maths moment 

Christmaths with The SimpsonsChristmaths with The Simpsons  
  

Homer’s Problem 

Santa brought Homer 50 cans of Duff beer and 50 donuts. 

1 beer and 6 donuts weigh 900 grams. 

3 beers and 2 donuts weigh 940 grams. 

How heavy were the contents of Santa’s sack? 
 

Homer: What are the odds on Santa’s Little 

Helper? 

Bookie: 99 to 1 

Homer: 99 times 13 equals…. Merry Christmas! 

1 


